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Group 1

Indicate whether each item expresses an advantage or a disadvantage of a corporation or if the item is not a characteristic of a corporation.  Write on your answer sheet “A” for advantage, “D” for disadvantage, or “N” if the item is not a characteristic of a corporation.

1. Extensive government regulation

2. Ease of transfer of ownership

3. Limited liability of the owners

4. Dividends to stockholders of regular corporations are not taxable as personal income

5. Required to disclose operations to the public

Group 2

For questions 6 through 9, write the correct amount or number on your answer sheet.  Question numbers are indicated by the bold “Q#”.  (Note asterisks.)

	Plant Asset
	Months Owned First Year
	Original Cost
	Estimated Salvage Value
	Estimated Useful Life
	First Year’s Straight Line Depreciation

	Back Hoe Tractor
	Q#6
	55,200
	6,000
	5 years
	6,560

	Forklift
	3
	Q#7
	12,000
	5 years
	3,900

	Dump Truck
	7
	119,660
	*Q#8
	7 years
	8,680

	Auto
	4
	25,880
	5,000
	*Q#9
	2,320


Group 3

The following account balances were taken from the end of fiscal year financial statements of Salt Fork, Inc. for December 31, 2002:

	Cash in Bank
	28,000
	
	Accounts Payable
	11,250

	Accounts Receivable
	1,000
	
	Federal Income Tax Payable
	6,000

	Merchandise Inventory
	30,000
	
	Dividends Payable (due 2-15-03)
	2,100

	Prepaid Expenses
	1,000
	
	Sales Taxes Payable
	650

	
	
	
	Long Term Notes Payable (due 2-1-04)
	15,000


For questions 10 through 12 write the correct amount or ratio on your answer sheet.  Ratios should be rounded to the nearest tenth and expressed as in this example:   2 to 1.

10. What is the amount of working capital?

11. What is the quick ratio?

12. What is the current ratio?

Group 4

For  items 13 through 19 indicate which of the following accrual or deferral categories each item represents for various companies with a December 31 fiscal year end.  Use the following code and write the correct identifying letter on your answer sheet.




A. Prepaid Expense

C. Accrued Expense
                      B. Unearned Revenue

D. Accrued Revenue

13. Fees collected in December by a CPA for an audit to be performed in January  

14. Property taxes incurred for December that are due to be paid in February  

15. A two-year premium paid on December 30 on an insurance policy  

16. Cash received by a ballpark in January for season tickets to all home baseball

      games to be played in the summer   

17. Fees for the completed tax return prepared by a CPA that has not yet been picked

      up by the client   

18. Office supplies purchased in December that have not been used   

19. Interest on an interest-bearing note receivable on December 31 that matures on 

      February 14

Group 5

For items 20 through 24, write “True” if the statement is true; write “False” if it is false.

20. Accrued expenses are reported on the Balance Sheet as a current asset.

21. Accrued revenues are reported on the Balance Sheet as a current liability.

22. The account called Office Supplies on Hand is an example of a prepaid expense.

23. A revenue received prior to it being earned is reported on the Balance Sheet as a 


current liability.

24. If there is a balance in the Unearned Revenue account after adjusting entries are 


made, it represents a deferral.

Group 6

For questions 25 through 36, write the identifying letter(s) of the correct account(s) to be debited and credited for each transaction on your answer sheet.

Some answers will include multiple accounts.  The order in which you write the identifying letters in an answer is not considered in grading.  However, all accounts in an answer must be correct in order for the response to be correct.

	A.
	Cash in Bank
	E.
	Income Summary

	B.
	Common Stock ($25 par)
	F.
	Paid-In Capital in Excess of Par

	C.
	Dividends—Common
	G.
	Retained Earnings

	D.
	Dividends Payable—Common
	
	


The question numbers are listed in the appropriate debit and credit columns.
	Debit
	Credit
	Transaction

	25.
	26.
	Issued 1,000 shares of common stock at par.

	27.
	*28.
	Issued 2,000 shares of common stock at $30 per share.

	29.
	30.
	Declared a $100 per share cash dividend.

	31.
	32.
	Paid the dividends.

	33.
	34.
	Closed the Income Summary account (the corporation had a net income for the year)

	35.
	36.
	Closed the Dividends account.


Group 7

The Leon Co. has the following information about an item it sells for $15.00 each.  During the year the company sold 831 units.  Round to the nearest cent.

	
	
	Number of

Units
	Cost per Unit
	Extended Amount

	Jan 1
	Beginning Inventory
	241
	8.00
	1928.00

	Feb 19
	Purchase
	190
	8.50
	1615.00

	Mar 27
	Purchase
	160
	8.75
	1400.00

	Apr 8
	Purchase
	125
	9.00
	1125.00

	July 14
	Purchase
	100
	9.15
	  915.00

	Aug 8
	Purchase
	  80
	9.25
	  740.00

	Nov 2
	Purchase
	150
	9.60
	1440.00

	Dec 4
	Purchase
	  45
	9.80
	  441.00

	
	
	    1091
	
	9604.00


For questions 37 and 38, write the correct amount on your answer sheet.

37. What is the amount of gross profit for the year if the FIFO method of inventory 


      valuation was used?

  38. What is the amount of gross profit for the year if the LIFO method of inventory 

       valuation was used?

Group 8

Salaries are paid on Tuesday for the previous five-day work-week (Monday through Friday).  The salaries are earned equally each day throughout the week.  Gross salary expense paid on Tuesday, January 7, 2003 was $9,000.  The amount in the 2002 Salary Expense account before the accrual was $400,000.  Ignore payroll taxes and withholding.  The company does not use reversing entries.

For questions 39 through 42, write the identifying letter of the best response on your answer sheet.

39. The correct accrual on December 31, 2002 is:





         Salary
         Salary



Amount
        Payable        Expense


A.  $3,600

debit

credit


B.  $3,600

credit

debit


C.  $5,400

debit

credit


D.  $5,400

credit

debit


E.  $9,000

credit

debit

40. On December 31, 2002, the amount of Salary Expense closed to Income

      Summary is:


A. $3,600    B. $9,000    C. $400,000    D. $403,600    E. $405,400    F. $409,000

41. The balances in the following accounts on January 1, 2003 are:



  Salary Expense
        Salary Payable

A.

zero


credit $3,600


B. 
zero


credit $5,400


C.      credit $3,600

       zero


D.      credit $3,600

debit $3,600


E.      debit $5,400

debit $5,400

 * 42. After the salaries are paid on January 7, 2003, the following is true with respect to 


2003:



   Salary Expense
    Salary Payable

A. 
$5,400

$3,600


B. 
$3,600

   zero


C. 
$9,000

   zero


D.

$5,400

   zero


Group 9

For questions 43 through 49, write the identifying letter of the best response on your answer sheet.

43. On December 31, 2002 Red Company failed to make an adjustment for $550 of


accrued service revenue earned but not received, and also failed to record the 


expiration of $300 of insurance premiums that had been debited to Prepaid 


Insurance.  As a result of these errors, the 2002 Income Statement will be affected 


as follows:



       Revenue

      Expenses

A.   overstated $550 

understated $300


B.   overstated $550

overstated $300


C.   understated $550

overstated $300


D.   understated $550

understated $300

44. Partial information from Guadalupe Company’s unadjusted and adjusted trial 


balances follows:

	
	Unadjusted
	
	Adjusted

	
	Trial Balance
	
	Trial Balance

	
	Debit
	Credit
	
	Debit
	Credit

	Prepaid Insurance
	5,620
	
	
	3,410
	

	Office Supplies
	540
	
	
	225
	

	Salaries Payable
	
	
	
	
	2,800



The adjusting entries included which of the following?


A. a $2,210 debit to Prepaid Insurance, a $2,800 credit to Salaries Payable, and a



$315 credit to Office Supplies


B. a $2,210 credit to Prepaid Insurance, a $2,800 debit to Salaries Payable, and a



$315 credit to Office Supplies


C. a $2,210 credit to Insurance Expense, a $2,800 debit to Salaries Expense, and a



$315 debit to Office Supplies Expense


D. a $2,210 debit to Insurance Expense, a $2,800 debit to Salaries Expense, and a



$315 debit to Office Supplies Expense

45. On December 31, 2002, Seine Company made an entry to record $3,800 of accrued 


salaries.  The next payment of salaries on January 6, 2003 was $7,000.  Regarding 


these transactions only:


A. Seine Company is clearly using the cash basis of accounting.


B. The salary expense charged to 2003 will be $7,000.


C. The salary expense charged to 2003 will be $3,200.


D. The entry on January 6 will include a $3,200 credit to Cash.


E. The salary expense charged to 2002 will be $3,200.

Group 9 continued:

46. The accrued portion in a revenue account represents an amount which is



Earned
Collected

A.
    no

      no


B.
    no

      yes


C.     yes

      yes


D.     yes

       no

 * 47.  On May 1, 2002, Brazos Company (with a December 31 fiscal year-end) paid 


$1,800 for a two-year insurance policy.  Which of the following is false?


A. Under the cash basis of accounting, 2003 insurance expense is zero.


B. Under the accrual basis of accounting, 2002 insurance expense is $600.


C. Under the accrual basis of accounting, 2003 insurance expense is $1,200.


D. Under the accrual basis of accounting, 2004 insurance expense is $300.

48. When a specific customer’s account receivable is written-off as uncollectible, what 


will be the effect on net income under each of the following methods of recognizing 


bad debt expense?



    Allowance Method
 Direct Write-Off

A. 
decreased

         none


B.

    none

     decreased


C. 
decreased

     decreased


D.

    none

         none

 * 49. At the end of its first year of operations on December 31, 2002 after adjusting


entries, Coldwater Company had accounts receivable of $300,000, which were net 


of the related allowance for doubtful accounts.  During 2002, Coldwater Company 


recorded bad debt expense of $80,000 and wrote off as uncollectible, accounts 


receivable of $20,000.  What should Coldwater Company report on its Balance 


Sheet on December 31, 2002 as Accounts Receivable BEFORE the Allowance for 


Doubtful Accounts?



A. $240,000      B. $300,000      C. $320,000      D. $360,000      E. $400,000

Group 10

For questions 50 through 52, write the correct amount on your answer sheet.

50. Colorado, Inc. carries an average annual inventory of $653,000.  When the 


company prepares financial statements, the accountant estimates ending inventory 


using the gross profit method.  Colorado, Inc. historically has averaged a gross 


profit percentage of 43%.  Following are the normal balances in the general ledger 


on April 30, 2003:

	Net Sales
	$1,632,500

	Beginning Inventory, January 1, 2003
	542,800

	Net Purchases
	1,086,950



What is the estimated ending inventory on 4-30-03 using the gross profit method?

Group 10 continued:

 * 51. A company called Classic Limo opened its general ledger with the following 


accounts:  Cash, Prepaid Rent; Automobiles; Equipment; Barry Jones, Capital; 


Fees Earned; Gas and Oil Expense; and Cell Phone Service Expense.  In the first 


month of operation he had the following transactions.  (Barry Jones records prepaid 


items in an asset account and prepares adjusting entries on a monthly basis.)


April 1 Barry Jones invested $10,000 in cash and a stretch limo having a fair



       market value of $40,000



    1 Rented furnished office space and paid for three months in advance $1,050



    2 Purchased a cell phone for the limo with cash $200.  This included $100 for



       the hardware and $100 for cell phone service for the month of April.  Barry

                  recorded the service directly into an expense account.


      15 Chauffeured clients for the first half of the month and collected $3,000 in fees


      30 Chauffeured clients (mostly proms) for the second half of the month and

                  collected $5,400 in fees.

             30 Paid for gas and oil used in the limo during April $560.


On April 30 after the above transactions are posted, what is the balancing total in 


the work sheet trial balance columns?

 * 52. The following selected accounts have normal balances at the end of the fiscal year 


before closing entries are posted.

	Allowance for Uncollectible Accounts
	$1,790 cr

	Salaries Expense
	12,420

	Dividends Payable
	8,000

	Insurance Expense
	2,490

	Common Stock
	100,000

	Revenue
	40,750

	Accumulated Depreciation, Equipment
	10,470

	Rent Expense
	8,610

	Utilities Expense
	15,420

	Depreciation Expense
	4,205

	Interest Income
	375



What amount will be posted to Retained Earnings in the process of closing the 


Income Summary account?  (You must also write DR or CR to indicate how the 


amount was posted to Retained Earnings.)

Group 11

Refer to the following transactions and the T-accounts in Table 1 on page 13.  You may remove the table pages from the staple for convenience.

Joan Sanchez began a public accounting practice and completed the following transactions for January.  Joan uses the accrual basis of accounting and prepares monthly adjusting entries.  The January transactions have been posted to the T-accounts.  Joan realizes that more accounts will be needed at month end.

For questions 53 through 56, write the correct amount on your answer sheet.  A loss must be indicated by brackets or parentheses.

	Jan 2
	Invested $7,500 in a public accounting practice begun this day

	       2
	Rented furnished office space and prepaid two months’ rent in advance, $720 (recorded all in an asset account)

	2
	Purchased office supplies $325 and office equipment $3,600 on credit

	3
	Paid the annual premium on a liability insurance policy $960

	8
	Completed accounting work for The Henhouse Café and immediately collected $345 in cash for the work done

	10
	Completed accounting work for Tatum’s Used Car Sales on account $650

	15
	Purchased additional office supplies on credit, $180

	20
	Received $200 from Tatum’s Used Car Sales for the work completed on Jan 10

	22
	Joan Sanchez withdrew $300 from the accounting practice to pay personal expenses

	24
	Completed accounting work for The Candy Shoppe on account $465

	29
	Made a partial payment of $1,200 on the equipment and supplies purchased on Jan 2

	30
	Paid the utilities for the month of January $115


Additional information needed for adjusting entries not included above:

· Joan took an inventory of office supplies on January 31 $320

· The office equipment has zero salvage value and an estimated life of 3 years.  Joan uses the straight-line method

53. What is the balancing total in the January 31 work sheet’s trial balance columns?

54. What is the balance of the Cash account on January 31?

55. What is the balance of Accounts Payable on January 31?

**56. After all necessary adjusting entries are recorded on the January 31 work sheet, 


what is the amount of net income or loss for the month of January?

Group 12

Refer to the data in Table 2 on page 14.  For questions 57 through 67, write the correct amount or percentage on your answer sheet.  For this group, all percentages must be expressed as a percent (not a decimal), percentages must be rounded to the nearest hundredth of a percent, and decreases in dollars and percentages must be shown in brackets or parentheses.  (Use your time wisely—it is not necessary to calculate every missing amount on the spreadsheet.)

57. What is the amount of beginning inventory for 2001?

58. What is the amount of gross profit for 2001?

**59. What is the amount of Purchases Discounts for 2001?

60. What is the amount of ending inventory for 2002?

61. What is the percentage of increase (decrease) of 2002 over 2001 for net sales?

For questions 62 through 67 write “YES” on your answer sheet if the answer is yes; write “NO” if the answer is no.

(For questions 62-64):  Is the percentage of increase(decrease) of 2002 over 2001 for:

62. gross profit equal to 10.53%?


63. gross sales equal to 16.77%?

64. Sales Discounts equal to 6.65%?

65. Regarding vertical analysis, is the 2002 percentage for expenses 32.20%? 

 * 66. Regarding vertical analysis, was the percentage of expenses for 2002 larger than 


the percentage of expenses for 2001?

 * 67. Regarding vertical analysis, was the percentage of net income for 2001 higher than 


the percentage of net income for 2002?

Group 13

Refer to the data in Table 3 on page 14 regarding the Casa Co.  Write the identifying letter of the best answer for questions 68 through 80.

68. The entry on June 5, 2002 would include


A. a credit to Notes Payable for $90,000 plus the interest on the note for 180 days


B. a debit to Notes Receivable for $90,000


C. a credit to Notes Payable for $90,000


D. a debit to Cash in Bank for $90,000


E. both C and D

69. The face value of the note payable is


A. $90,000 plus interest for 180 days


B. $90,000 plus interest from the date of borrowing through the end of the fiscal

              year


C. $90,000 plus interest for 117 days


D. $90,000


E. $8,000

Group 13 continued:

70. The maturity date of the note payable is


A. June 5, 2002


E. December 2, 2002


B. September 14, 2002
F. December 3, 2002


C. September 30, 2002
G. December 5, 2002


D. November 27, 2002

H. December 6, 2002

71. The maturity value of the note payable is


A. $8,000

D. $90,945


B. $8,120

E. $91,755


C. $90,000

F. $92,700

72. The entry on Aug 29, 2002 for the transaction with Rio Co. would include a


A. debit to Sales


B. credit to Allowance for Uncollectible Accounts


C. debit to Accounts Receivable


D. debit to Notes Receivable


E. debit to Notes Payable


F. credit to Notes Payable

73. The maturity date of the note receivable is


A. August 29, 2002

D. October 29, 2002


B. October 27, 2002

E. December 2, 2002


C. October 28, 2002

F. December 3, 2002

74. The entry on September 30, 2002 to accrue interest on the note payable would 


include:



     Debit/Credit
     Account


Amount

A.

debit

Interest Receivable          
$1,755


B.

debit

Interest Expense              
$1,755


C.

credit

Interest Income                 
$1,755


D.

debit

Interest Receivable          
$2,700


E.            credit

Interest Payable

$2,700

75. The entry on September 30, 2002 to accrue interest on the note receivable would

       include:



     Debit/Credit
     Account


Amount

A.

credit

Interest Payable               
$64


B.

debit

Interest Receivable          
$56


C.

debit

Interest Expense              
$1,755


D.

credit

Interest Income                 
$64


E.

debit

Interest Receivable          
$120

Group 13 continued:

*76. On September 30, 2002 immediately after closing entries have been posted and

        before any entries in October, the balances in these three accounts are:




     Note

Interest
  Interest



Receivable
        Receivable
  Income

A. 
   $8,000

 $64
              zero


B.

   $8,000

 $64        
   $64


C.

   $8,120

  zero
              zero


D.

   $8,120

  $56       
   $42


E.

   $8,000

  zero
              $64


F.

   $8,000

  zero      
   zero

*77. On September 30, 2002 immediately after closing entries have been posted and 

        before any entries in October, the balances in these three accounts are:



  
     Note

Interest
Interest

          
   Payable

Payable
Expense

A. 
  $90,000

$1,755
 $1,755


B. 
  $90,000

$2,700
 $1,755


C. 
  $90,000

   zero
   
 $1,755


D. 
  $91,775

$1,755
   zero


E.

  $90,000

$1,755              zero


F.

  $91,775
           $945

 $945

**78. On October 1, 2002 immediately after reversing entries have been posted, the

      balances
in these accounts are:



   Interest

     Interest

      Interest

   Interest

 
Receivable

     Payable

     Expense

   Income

A. $64 debit

$1,755 credit

        zero

      zero


B.       zero    

         zero

$1,755 debit

$64 credit


C.       zero

         zero

$1,755 credit

$64 debit


D. $64 debit

$1,755 credit

$1,755 debit             $64 credit

79. On the maturity date of the note receivable, the entry to record the receipt of cash


and the fulfillment of the promissory note would include a:


A. credit to Interest Income for $56




B. debit to Note Receivable for $8,000



C. credit to Interest Income for $120


D. credit to Interest Receivable for $64


E. credit to Interest Expense for $945

Group 13 continued:

**80. After the note payable has been paid and the note receivable payment is 


 received, the balances in these accounts are:



    Interest Expense  
  Interest Income

A. 
$1,755


$64


B. 
$2,700


$120


C. 
 $945



$56


D. 
 zero



zero


E. 
$56



$945

This is the end of the exam.  Please hold your answer sheet and exam until the contest director calls for them.  Thank you!

Table 1

(for questions 53 through 56)

     Cash In Bank                                      Accounts Receivable                                 Office Supplies

	7,500
	720
	
	650
	
	
	325
	

	345
	960
	
	465
	200
	
	180
	

	200
	300
	
	
	
	
	
	

	
	1,200
	
	
	
	
	
	

	
	115
	
	
	
	
	
	


       Prepaid Rent                                        Prepaid Insurance

                Office Equipment 

	720
	
	
	960
	
	
	3,600
	

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	


    Accounts Payable

            Joan Sanchez, Capital                     Joan Sanchez, Drawing
	1,200
	3,925
	
	
	7,500
	
	300
	

	
	180
	
	
	
	
	
	

	
	
	
	
	
	
	
	


 Accounting Fees Earned
                  Utilities Expense

	
	345
	
	115
	
	
	
	

	
	650
	
	
	
	
	
	

	
	465
	
	
	
	
	
	


	   
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	


Table 2

(for questions 57 through 67)

	
	
	
	Increase <Decrease>
	2002
	2001

	
	
	
	2002 over 2001
	Percentage
	Percentage

	
	2002
	2001
	Dollars
	Percent
	of Net Sales
	of Net Sales

	
	
	
	
	
	
	

	Sales
	952420
	815630
	136790
	
	
	

	Sales Returns & Allow.
	18570
	16105
	2465
	
	
	

	Sales Discounts
	16450
	15425
	
	
	
	

	Net Sales
	917400
	784100
	133300
	
	100%
	100%

	Cost of Mdse Sold:
	
	
	
	
	
	

	Beginning Inventory
	150000
	
	
	25.00%
	
	

	Purchases
	547357
	529875
	17482
	3.30%
	
	

	Transportation In
	9380
	8245
	1135
	13.77%
	
	

	Cost of Delivered Mdse
	
	
	18617
	
	
	

	Purchases Returns & Allow.
	6510
	6200
	310
	5.00%
	
	

	Purchases Discounts
	
	
	
	
	
	

	Net Purchases
	
	
	
	
	
	

	Cost of Mdse Available for Sale
	
	
	
	
	
	

	Ending Inventory
	
	
	
	1.10%
	
	

	Cost of Mdse Sold
	
	
	45950
	
	
	

	Gross Profit
	
	
	87350
	
	42.00%
	38.00%

	Expenses
	
	
	44963
	
	
	

	Net Income
	89890
	47503
	42387
	
	
	


Table 3

(for questions 68 through 80)

Casa Company has a fiscal year end of September 30.  The company uses the accrual basis of accounting and utilizes reversing entries.  Adjusting and closing entries are prepared only at the end of the fiscal year.

On June 5, 2002 Casa Co. borrowed $90,000 from the bank.  (The bank calculates interest using 360 days in a year.)  The note was interest-bearing for 180 days at 6%.

On August 29, 2002 Rio Co. indicated that at this time they would be unable to pay the $8,000 owed to Casa Co. on account.  The Rio Co. issued an interest-bearing promissory note to Casa Co. for 60 days at 9%.  (Use a 360-day year for interest computations.)

At the end of the fiscal year these are the only two notes in which Casa Co. is involved.

	Calendar Reference

	Jan
	31
	
	July
	31

	Feb
	28
	
	Aug
	31

	Mar
	31
	
	Sept
	30

	Apr
	30
	
	Oct
	31

	May
	31
	
	Nov
	30

	June
	30
	
	Dec
	31


